R 2TAE A

O F3
HENKE FERHINZS EREN(EIE ) FREILAT (RfEE)
TGO (UKHE) 4 i~ (21[A]) 'AﬁﬁﬁAEm%%%
IRV 3 B R (4 E) 4 A~ (43[8]) BT AR E S
XY o EREGEEAGEE | 4 A~ (42[A]) @I¢%m
iR Uk | ANV VERNERERMGEE | 5 A~ (40[) T ERMAT
ERRI oY o BRI | 9H 1 3 H ERRER E s 7 —
SRR R AR B 6H22H-23H H & s
HSENEL Y SEMRE | 1H9H R EEa Y o & —
e ot o | BIBIRIE (SZFE) 2L N
BRBECHIRE e s 2L Ty
F oW F ¥ | FRTES 6H10H FEHAE
FRAEE T2 LDl o .
B A 2 | ART T — | 6 H27H FHAE (1 5AN)
(NExHry) | BEAED 7H23H FHAE (8N)
A )= R—=AL3D 12H12H FEHAoE (18AN)
M- 222V A KRB L KD - .
ALy b A 9H12H EHALE
e NIEERERFT b &b 7H18H o] 7 RIS Ty = o

PA LY DT A - ) =Y

8/1-8/4-8/18 - 8/25 - 8/26 - 8/30 - 9/1 - 9/3 - 9/6

9/9 - 9/11
EONWL Y=y R—y B A F A5
ERR R ES AR —Y K 5024H iR I8 G G ) F/NE|
SEES (FE) 2 6713H-14H e oo Bk
2 D FHHE 2 9H30H Wi (22 0)
BB EZ—F D0 11H8H EHALE
2 ” " fBiyE N2 I =5H7H 11H18H FERRH T v
THVELE VAVT v THHE R L2558 o h L
[ErRik UD b—7 |
EC T S USRS )| 12H6H BT R 2 —
B 7 = 2 % 200 1A17H T—AZ R
BE 7 = AXBN 3420H FTHLE
2 OO EKRIGHZERT 7 | 6/20-7/25-8/22+9/19 - - .
4T Y — AR BN 3/12 R R 51—
& B2 e B A LI3H
OFHEES
HEAR RPN AEE (B3 FEhasmiT (KEE)
T E LA URIE B EAE AIRTH
BorE =i H1H EHAL
% Ft F ¥ | IREROMGES RERE (H5MEILLE) EHAE
FRETLEIRE | a—T 4 X — X —2i% A1 IRIE FH ST
B RO B kR 4 2 [A] FHLE
R BERABELE RS 10/19 - 3/7 EHAE




